Corporate Finance - Tutorial Solutions –Managing Current Assets -  Chapter 16
16-1
Net Float = Disbursement Float - Collections Float

          = (4 ( $10,000) - (3 ( $10,000)

          = $10,000.

16-2
Sales = $10,000,000; S/I = 2(.

Inventory = S/2

       = 
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 = $5,000,000.

If S/I = 5(, how much cash is freed up?

Inventory = S/5

    = 
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 = $2,000,000.

Cash Freed = $5,000,000 - $2,000,000 = $3,000,000.

16-3
DSO = 17; Credit Sales/Day = $3,500; A/R = ?

DSO = 
[image: image3.wmf]S/360

A/R


 17 = 
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A/R = 17 ( $3,500 = $59,500.

16-4
a.
Cost = (Number of locations)(Number of transfers)(Cost per transfer)

       + (Monthly cost)(12)

     = (10)(260)($9.75) + ($6,500)(12) = $25,350 + $78,000 

     = $103,350.

b.
Reduction in days of float = 3 days.

Benefit = 
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        = (3)($325,000)(0.10) = $97,500.

c.
Net gain (loss) = $97,500 - $103,350 = -$5,850.

Malitz should not initiate the lockbox system since it will cost the firm $5,850 more than it will earn on the freed funds.

16-5
a.
0.4(10) + 0.6(40) = 28 days.

b.
$900,000/360 = $2,500 sales per day.

$2,500(28) = $70,000 = Average receivables.

c.
0.4(10) + 0.6(30) = 22 days.  $900,000/360 = $2,500 sales per day.

$2,500(22) = $55,000 = Average receivables.

Sales may also decline as a result of the tighter credit.  This would further reduce receivables. Also, some customers may now take discounts further reducing receivables.

16-6
a.
Cash conversion cycle = 22 + 40 - 30 = 32 days.

b.
Working capital financing = 1,500 ( 32 ( $6 = $288,000.

c.
If the payables deferral period was increased by 5 days, then its cash conversion cycle would decrease by 5 days, so its working capital financing needs would decrease by 

Decrease in working capital financing = 1,500 ( 5 ( $6 = $45,000.

d.
Cash conversion cycle = 20 + 40 - 30 = 30 days.

Working capital financing = 1,800 ( 30 ( $7 = $378,000.

16-7
a.
Cash conversion cycle:

= 
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= 75 + 38 - 30 = 83 days.

b.
Average sales per day = $3,375,000/360 = $9,375.

Investment in receivables = $9,375 ( 38 = $356,250.

c.
Inventory turnover = 360/75 = 4.8(.

16-8
a.
Inventory conversion period = 360/Inventory turnover ratio

                            = 360/6 = 60 days.

Receivables collection period = DSO = 36 days.

Cash conversion cycle:

= 
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= 60 + 36 - 40 = 56 days.

b.
Total assets = Inventory + Receivables + Fixed assets

             = $150,000/6 + [($150,000/360)*36] + $40,000

             = $25,000 + $15,000 + $40,000 = $80,000.

Total assets turnover = Sales/Total assets 

                      = $150,000/$80,000 = 1.875(.

ROA = Profit margin ( Total assets turnover

    = 0.06 ( 1.875 = 0.1125 = 11.25%.

c.
Inventory conversion period = 360/8 = 45 days.

Cash conversion cycle = 45 + 36 - 40 = 41 days.

Total assets = Inventory + Receivables + Fixed assets

             = $150,000/8 + $15,000 + $40,000

             = $18,750 + $15,000 + $40,000 = $73,750.

Total assets turnover = $150,000/$73,750 = 2.03(.

ROA = $9,000/$73,750 = 12.2%.

16-9
a.
Return on equity may be computed as follows:

                                 Tight        Moderate      Relaxed 

Current assets

  (% of sales ( Sales)         $  900,000    $1,000,000    $1,200,000

Fixed assets                    1,000,000     1,000,000     1,000,000
Total assets                   $1,900,000    $2,000,000    $2,200,000
Debt (60% of assets)           $1,140,000    $1,200,000    $1,320,000 

Equity                            760,000       800,000       880,000
Total liab./equity             $1,900,000    $2,000,000    $2,200,000
EBIT (12% ( $2 million)        $  240,000    $  240,000    $  240,000

Interest (8%)                      91,200        96,000       105,600
Earnings before taxes          $  148,800    $  144,000    $  134,400

Taxes (40%)                        59,520        57,600        53,760
Net income                     $   89,280    $   86,400    $   80,640
Return on equity                 11.75%        10.80%         9.16%

b.
No, this assumption would probably not be valid in a real world situation.  A firm’s current asset policies, particularly with regard to accounts receivable, such as discounts, collection period, and collection policy, may have a significant effect on sales.  The exact nature of this function may be difficult to quantify, however, and determining an “optimal” current asset level may not be possible in actuality.

c.
As the answers to Part a indicate, the tighter policy leads to a higher expected return.  However, as the current asset level is decreased, presumably some of this reduction comes from accounts receivable.  This can be accomplished only through higher discounts, a shorter collection period, and/or tougher collection policies.  As outlined above, this would in turn have some effect on sales, possibly lowering profits. More restrictive receivable policies might involve some additional costs (collection, and so forth) but would also probably reduce bad debt expenses.  Lower current assets would also imply lower liquid assets; thus, the firm’s ability to handle contingencies would be impaired.  Higher risk of inadequate liquidity would increase the firm’s risk of insolvency and thus increase its chance of failing to meet fixed charges.  Also, lower inventories might mean lost sales and/or expensive production stoppages.  Attempting to attach numerical values to these potential losses and probabilities would be extremely difficult.

16-10
a.
                                   Firm’s            Bank’s

                               
 checkbook 

  records   
Day 1
Deposit $1,200,000;

write check for

$1,600,000.        
-$  400,000

 $1,200,000

Day 2
Write check

for $1,600,000.    
-$2,000,000

 $1,200,000

Day 3
Write check 

for $1,600,000.    
-$3,600,000

 $1,200,000

Day 4
Write check 

for $1,600,000.    
-$5,200,000

 $1,200,000

Day 5
Write check for

$1,600,000; deposit

$1,600,000.         
-$5,200,000

 $1,200,000

After the firm has reached a steady state, it must deposit $1,600,000 each day to cover the checks written four days earlier.

b.
The firm has four days of float.

c.
The firm should try to maintain a balance on the bank’s records of $1,200,000.  On its own books it will have a balance of minus $5,200,000.

d. For any level of sales, the firm will probably have a higher rate of return on assets and equity if it can reduce its total assets.  By using float, SSC can reduce its cash account, by (4 ( $1,600,000) - $1,200,000 = $5,200,000.  However, they actually can reduce equity and debt by $6,000,000 as the firm has gross float of $6,400,000 - $400,000 (increase in the amount deposited in the bank) = $6,000,000, so earnings per share will be higher.  In terms of the Du Pont system, the rate of return on equity will be higher because of the reduction in total assets.

16-11
a.
Presently, HGC has 5 days of collection float; under the lockbox system, this would drop to 2 days.

                $1,400,000 ( 5 days       = $7,000,000

                $1,400,000 ( 2 days       =  2,800,000
                                            $4,200,000
HGC can reduce its cash balances by the $4,200,000 reduction in negative float.

b.
0.10($4,200,000) = $420,000 = the value of the lockbox system on an annual basis.

c.
$420,000/12 = $35,000 = maximum monthly charge HGC can pay for the lockbox system.

16-12
a.
I.

Collections and Purchases:
                             December    January    February
Sales                        $160,000    $40,000    $60,000

Purchases                      40,000     40,000     40,000

Payments                      140,000*    40,000     40,000

*November purchases = $140,000.

II.
Gain or Loss for Month:
Receipts from sales          $160,000    $40,000    $60,000

Payments for:

 Purchases                    140,000     40,000     40,000

 Salaries                       4,800      4,800      4,800

 Rent                           2,000      2,000      2,000

 Taxes                         12,000       ---        ---  
Total payments               $158,800    $46,800    $46,800
Net cash gain (loss)         $  1,200   ($ 6,800)   $13,200

III.
Cash Surplus or Loan Requirements:
Cash at start of month            400      1,600     (5,200)

Cumulative cash              $  1,600   ($ 5,200)   $ 8,000

 Target cash balance            6,000      6,000      6,000
Cumulative surplus cash or

 total loans to maintain 

 $6,000 target cash balance ($  4,400)  ($11,200)   $ 2,000
b.
If the company began selling on credit on December 1, then it would have zero receipts during December, down from $160,000.  Thus, it would have to borrow an additional $160,000, so its loans outstanding by December 31 would be $164,400. The loan requirements would build gradually during the month.  We could trace the effects of the changed credit policy on out into January and February, but here it would probably be best to simply construct a new cash budget.
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